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def Test{a,b=4):

return a+h

A=Test(20,5)
print{A)
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def addIltem (listParam):
listParam +=[1]
mylist = [1, 2, 3, 4]
additens{mylisty
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confusion = {}
confusion[1] =1
confusion['1'] =2
confusion[1.0] =4

sum =0
for k in confusion:
sum += confusion[k]

print(sum)
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Print(Last)
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confusion = {}
confusion[1] =1
confusion['17]=2
confusion[1] =1
sum=10
for k 1n confusion:
sum += confusion[k]
print(sum)
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def outerFunctioni):
global a
a=2
def innerFunction():
olobal a
a=30
print(’a = a)
a= 10
outerFunction()
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class Foo:
def printline(self, line="Python'):
print(ling)
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class Stack:

def it (=elf):

self items =]

def push(zelf, item):
self items append(item)
def pop(self):

return self items pop()
def 1sEmpty(self);
return (self items = [])
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db = MySQLdb connect({"localhost"”, "testuser” "test123" "TESTDB" )
cursor = db.cursor()
sql = "SELECT * FROM EMPLOYEE |
WHERE INCOME = "%d™ % (1000)
cursor.execute(sql)
results = cursor fetchall()
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